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MASTER OF COMMERCE 

Term-End Examination 
TH 
C"\J 	 June, 2013 
CV 
CD MC0-03 : RESEARCH METHODOLOGY AND 

STATISTICAL ANALYSIS 

Time : 3 hours 	 Maximum Marks : 100 

Weigh tage : 70% 

Note : Attempt any five questions. All questions carry equal 

marks. 

1. (a) What is a research problem ? In the light of 

research problem how are hypothesis 

framed ? Explain with examples. 	10+10 

(b) What are the statistical techniques used to 

test the hypothesis ? Explain them briefly. 

2. What are the various methods of collecting 

primary data ? Explain them briefly and make a 

questionnaire to carry out a survey to find out 

the investment pattern made by the employees of 

ABC Company and to understand their risk 

behaviour. 	 8+12 

3. A sales manager of a soft drink company is 

studying the effect of its latest advertising 

campaign. People chosen at random were called 

MCO-03 	 1 	 P.T.O. 



and asked as to how many bottles they had 

bought in the past week and how many 

advertisements of this product they had seen in 

the past week. 	 7,10,3 

No.of ads (x ) 4 0 2 7 3 4 2 6 
Bottles 

purchased 
6 5 4 16 10 9 6 14 

(a) Develop the estimating equation that best 

fits the data and test its accuracy. 

(b) Calculate correlation coefficient and 

coefficient of determination. 

(c) Predict y value when x=5. 

4. 	The production (in thousand tonnes) in a sugar 

factory during 1994 to 2001 has been as 

follows : 	 10,5,5 

Year 1994 19.95 1996 1997 1998 1999 2000 2001 
Production 35 38 49 41 56 58 76 75 

(a) Find the trend values by applying the 

method of least square. 

(b) What is the monthly increase in 

production ? 

(c) Estimate the production of sugar for the 

year 2008. 

5. 	(a) What are the different types of scales used 

to measure the attitude of a person ? Briefly 

explain these scales giving suitable 

examples. 	 15+5 
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(b) Construct semantic differential scale to 

measure the experience of respondents 

towards X brand of a shaving cream. 

6 	(a) Define a binomial probability distribution 

and state the conditions under which the 

binomial probability model is appropriate. 

(b) Explain the procedure involved in poison 

distribution. 	 10+10 

7. (a) What is reporting ? What are the different 

stages in the preparation of a report ? 

Explain briefly. 	 10+10 

(b) What are the aspects that have to be checked 

before going to final typing. 

8. Write explanatory notes on any two 

following : 

(a) Statistical Derivatives 

(b) Methods of Generalisation 

(c) Methods of Agreement 

(d) Essentials of Interpretation 

of the 
10+10 
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1. (a) 3-1114W9.  TM-FEET 411 c c 4 t ? 3-1-VtINTITIFfT 

Ictchr-L111 (hypothesis) 	f91:117 

%-4 fzrr \int? 3q1tul  if cqt(sm it I 

(b) 	t yt1 	r 	f 	i 	h-Tr 	\-114 

-51fq-R17:6 	t? TIT114 0611(s1 I .T1-F7R I 
10+10 

2. 9-1 	1 	44)(1-1 en') cl-el I rcl 	rcl 	FWITf ? 

Tf0414-39-  oe-11(1l 9-1TABC -i-Titt.b4-111Rq1' 

gill f*7 	f9-471 iii 7r-d- tf (pattern) 711cf 

-triNTr 	 cbl TrIT-j4 	1TR 
8+12 
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3. 	TIFF f 	*791.  chl fq-WzT X101q-T 3i-9-4 '101'1 

fa r793TriTzrr9 	3-TbTFR. 	t 1 giqr-,64) 

3TRTR -crT 	if 4,1 1--d-r-*--T 	-Tr I 	r Fon 3 	1a 

fcr- 	 "T- rrq 

fq-jrcrt c 	 tur I 	 7,10,3 

4 0 2 7 3 4 2 6 fq7TE191 chi tit.sql (x ) 

6 5 4 16 10 9 6 14 7fft q •t-d- 	(y ) 

(a) 31 ft i=r-4R4 3T1 	3 pd 3-17*--@1' 

-1 41 ch.&ul (estimating equation) rolchRA cf 

7:1-*1 tth71-4d1 cni 41UcIT 	I 

(b) TI-64-qq -T-111T (correlation coefficient) -d 2TT 

fiNiTuT 	(coefficient of determination) 

chi 141tchril 	I 

(c) x=5 a->) #24-fa. -4 y4-11-1 	TattiTri 

4. 1994 2001 	 -c11-11 

( -IR 	F-H-Ircli6c-r 2n : 	 10,5,5 

1994 1995 1996 1997 1998 1999 2000 2001 

35 38 49 41 56 58 76 75 ,3c-41q-f 

(a) ffd1=1. 	 i4 fdfg (method of least square) gRI 

Tffr 711c-r 

(b) 	 Tit:1-*-  7fz 	t? 

(c) .14 2008 t  	tql 31711f9-  t-IfI 
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5. 	(a) fTTft 	rn1 3-1f1-7F7 (attitude) t 	 

rc 

	

--iti`n-ral(*Clztr-zjwr 6qiu17=rfoc,q11 --11 	71 

(b) 	"tf-47 r1T1 4)x -41t 	3rci 7:(74-qt1' 

(respondents) t 31-Trd chi HI4 	Fri 	 3TO 

f-d -41:1-17T (semantic differential scale) tLIR 

I 	 15+5 

6 	(a) 	fgi-rq -grf- Id=ea 	(binomial probability 

distribution) ehl 410-1717 	 #gFdA 

tr 	 rr 	t 3 	f--crq -Trr-zracil 

4-11-11 \IRV tl 

(b) 	 (poison distribution) IT 	 

31rW:11 a,1 oiRsql---Tr--A7I 	 10+10 

7. (a) 	5f-d4q-9-  (reporting) 	4z1T c c 4 t? -5rfaa- 

IRTR 

	

	a;) fq-Flm 31-4T-21r3a,1 7:fcr c,wsql 	

I 

(b) 	Mi-rg 11-6-q, 	-4 t f 	T ftif ch), 31 

Zr-f-cfri 	1:17- 	fwqr '1 I -I 13-Tra-q-zrt 

t? 	 10+10 

8. 14—froligd -4 74 fwt 	-crT 0,-ARFAicHcb 	 

fffti7 : 	 10+10 

(a) -IirtY--1ch-k{ -9cwt 

(b) 	faf4 

(c) 71--61Ifff 4;1 fafq 

(d) f T 3-11-dTTW 
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